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FACULTY OF SOCIAL SCIENCES
B.A. (Third Year) (Fifth Semester) EXAMINAT

ECONOMICS
Paper IX (Compulsory)

(Indian Economy)
(Saturday, 8-4-2017)

Time—2 Hours

Maximum Marks—40
NB. »— (i)

Attempt A} questions.
(L)  All questions carry equal marks.
() TS w9 Trean
@ W& v o e,
State the problems and remedies of road transport.
Or
(fram)

Explain objectives and structure of NITT Commission,

L

2. Explain the characteristics of Mixed Economy.
s sfords SR me

10

10

Or
(fam)

Explain impact of privatization on Indian economy.

-~
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3. Illustrate role of Foreign capital in Indian Economic Developmant, 10
Or

(feRam)
Explain concept and components of Human Development Index.
el C R JE——— P s g
4, Write short notes on (any two) : 10
(t) Int_aernaticrnal Monetary Fund
(@)  Social Infrastructure (Education and Health)
(tif)  Socialist Economy

(iv)  Role of Agriculture.

diesm fow foam (S 99) .

(i) TSy Ay Fedt

Gi) WS SMRYE wE (R enfor s
(iff) ~ EHEWERE] Y

(iv) o=t g
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This question paper contains 2 printed pages!
A—104—2019
FACULTY OF HUMANITIES
B.A. (Third Year) (Fifth Semester) (Regular) EXAMINATION
OCTOBER/NOVEMBER, 2019
(CBCS Pattern)
ECONOMICS
Paper IX |

(History of Economic Thoughts : DSE-ECO-I)

(Tuesday, 19-11-2019) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maxtmum Marks—40
NB —  Attempt All questions.

wd yy3 #Hmm

1. What 1s Physiocracy 7 State the causes of rise of Physiocracy. 15
fravtar wod w7 fawdar 3zae SO0 wm,
Or
(foram)

Explain the role of innovation in economic development.
Ty sofdw fawmdie gftm e w5,
2. State the Karl Marx's theory of surplus value, 15
wredl e sfafa gea fagi wm,
Or
(fam)

Explain the David Ricardo's theory of value.
P.T.0.
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WT ( 2 )
3. Write short notes on any one from Section A and Section B each : 10
dmma fam fere {ﬁﬂmaﬂreﬁﬂmﬁuﬁangﬂgﬁaﬁ@} :
Section A/f@WT 3
(1) Role of time in price determination
Or
(fera)

Division of Labour

orq favmolt

(£L)

Section pffaar &

(1) Causes of rise of Mercantilism

o A B
12 e~
(i) Emnnmic-We]fare
aqfefer e
2
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WINTER EXAM 2020
Subject Name | SA-76_Economics-History of Economic Thought (DSE-1)-
IX (CBCS) OR_V_19-03-2021

Duralion ; 6¢
min

Date : 19/03/2021

Instruction / {d-1 / -

* Follow the detail instructions given on OMR Sheel

* ot un AR adte U Yae ures dd,

QA
According to Marshall, the ...........factor is effective in determining the price in long term
e giem wd Rxare fdma Riida e gyl s,
AlRate of Interest [FTHE3] Clsupply [92d4&1)
Blpemand i) Dlpemand and Supply (Aol @ qearaT]
Q.2
Identify odd option from physiocracy principles
Frarfarg qammdia fdra gala siean

AlThe Natural orders [afii@ sqgem  ClCirculation of Wealth [Fdtiid Heer)
BlThe Net Product [Fiade Idie) DJEconomic Nationalism [3ifdfd 37T

Q.3
verorne... discovered America
gt smfyaan 2y emaer.
Alvasco - da - Gama [@R&1 - & — T ClLeonardo - da - vinci (13T - g - fa=h)
BlColumbus [HIeiad] D]Recardo [R@131]
Q.4
According to Malthus , Foodgrain grows by ....... Progression
HICUY Fiel 7, AU 9off ared.
AlGeometrical [Hfdl] ClBoth A and B [§1%] AT B]
BlMathematical [TTforc) DINane of the Above [@dd U1 ATel]
Q.5 '

According to Schumpeter , innovation is the work of ...........

Yfieron ga ayad e 9 1Y g,

AlLabour [HTHITR) Clcapitalist [WigaegR)
Blinnovator [audiia) Dlinvestors ["[ddv@aR]
e p——————

Q6 | 527 D72
In the middle ages ......... was influencial in Varlous European Nations.
nurgiTd gAardia fafau apr deyrEr wyT g,

AlProtestant [Mc¥Ee] ClBoth A and B [1+¢] A 4 B)

BlCatholism [chtifférdi) DINone of the Above [adta il =imdl)

Nitps Asrmun-sdmin eperkshs nelinsiuleAdminHeponuAlQuestions sipx 1a
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7
D Marshadl wiobe e hook i
SRR RIIRN R UR ] T
Al ineiples of Teonomics REEEEIR
1 et ey of sty (20000 3]

P IwWertiue U conombes [fhe 10 U awenty i il prineasifien vidla)
SRR

AT
L

i
Pigou wrote the book ...

o avige~, Lkl e e,

AlPrinciplos of Economics (el

Hetded) Clwonlth of Nation (R )
Blwolfare Economies [deiviid Poverty [ell¥an)
RER)
Q.9

Al3 [3) Cl5 (5]

Bl4 [4] DJ7 [7]
Q.10 | | 5/
According to Adam smith |, whal delermines the value of Commodity in the early states of
developmenl.
At vy aie ) Rsare urfie e TRy Jed S 5ed?

AlLabour [4H] Clsupply [9¥a21]

Blpemand [FTUfT) DlPrice (fdw)

o e i B e qr.

Q.11 P 102 15/
The Period of Mercantilism was in ........ Century
1 aHTd SUIIRAIETE HIaEs sial

Alsth to 10th [4 3 T %0 T CHath to 15th [¥ A T 84 1]
B10th to 14th [30 3 T ¢¥ &) Dl16thto 18th (36 43¢ ]
R N —— gy
- Q.12 ) L By ¥.d | DL

Karl Marks nfvmle the bt;'lﬁllt .........
Tt A i g1 7y faifgam.
d Alwealth of Nation [RTETH HUl Clprinciples of Economics Tl Her]

Blwelfare Economics D
ik |Das Capital [GT6 @ uee)

. SRR O - i
Q.13 Vi | 9
......... discovered the Sea route to India

it e ToarEn T Anl 9 Se.

Alvasco - da - Gama [AR@1 — G = T ClLuthar [F2R]
B) 0]

14 nitps:isimun-admin epariksha. natinstiuleAdminFeports/AllCuestions.aspx
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Coliinhis [ el Colhend [ I’Ii"l
(WP
Wesalth OF Matton * Dok wins willlon Iy
BRI | I S TR Al e
Micardo (19i1) CIAdam i it fag
HIMaeshialt (risdon DI g LEIET
1

Whalt s lnnovallon ¢
AN AR R,

AlNaw discoverlog REIERITT '
DThe evolution of | “m"mm:] "*lf.'hnuun I production function (i1 et

componants [SHa sedindlor Sl DAl of the above. fadla fal) 1l

Q.16
fﬁcngullnu o I‘;ml_Mmr: 0 Gapltalist Economy monng of production holong to the ...
w1 eR] il T, lsaermarg] seforaaa e aes e e sraenre
AlGovommont [9I111) Clcapitanst (risae)
BlIPcaplo (w1 BDlNona of the abova [adler M) =iif) |
Q.17

Themas Malthus Wrote the book SR
eIy e i) et farlgen,
AlAn assay on the principlos of
population [elaeRaYan gl Clwelfare Economics [@reamr el
[*Yelu) Plpavorty [4ifagm)
Blweaith of Natlon (g1 )]

Q.18
The Concepl Of , ' Divislon Of Labour ' glven BV iiia
“ o1 fQaqrrol) » €) Yereus gl niwe).

AlFriedrich List [WER® [fRe) Cladam Smith (g )
Blmarshall (rrefer) Dlpigou (fi)
Q.19 |

Which of the Fnlinwing-natuml measures suggesled by Malthus to control population growth ?

HIeYR i diarien drelen urrde arevarard) @l wvr e gur garar

AlDrought [Gtb1E] ClEarthquake [1di)
BlFlood [UZ] DAl of the above [aler Ot wd)
Q.20 J S

Which of the Following was not the principle of Mercantlalist ?
warellerties) sHTaRErt B T TaEa?
AlAccumulalion of precious melals ) e
b sy Economic Nationalism [3[TIHH ATFAT]
(e urelEr e ) . D]Lack of control over trading Industry [ITGR JLTTER
BlFavourable balance of trade [3/U[igl Fyfzror )]
BRG] :

htips:ife mun-ndmin epariksin net nstititeAcinin ReponaalkDuestiion s aspx @
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Q.21 .
The concept of , ' Circulation of Wealth ' given by .......

Almarshall (ATl Clwilliam petty [fafemm 421
BlDr. Quesnay [T, 3] Dladam Smith [#73T @1y
Q.22

The Concept , ' The Role of Time in Price determination * given by
AlMarshall Hrefe) Cly.B.Clerk [S1. 41, Felidh]
BlRabbins RIf&=g] DlList [ferz)

Ezte.

.23 )i
According to Adam Smith , a Commodity has ........ Kinds of Value

s 99y i og g USRY Heqg 3,
Al [1] Cla [3]
Bl2 [2] D}4 [4]
Q.24 15/ 19«
.......... Is known as founder of the Neo Classical Period.
9 AT dyTe TR wuE qHAT i@ .
Alalfred Marshall [3Telrs AT ClFriedrich List (st fing)
Bladam smith [3fg5 fyy) Dlkeynse (&=
T i e
Q.25 | e i I | D2
According to Recardo , Natural Price of labouris .............
Hd YA A9E 9ol o ,
AlSubsistance Value [Fafg 1z ClMarket Value @y
Blabundant Value [aw@ DlAll of the above [adler Yast ud]
Q.26 2oV 54 | D
Identify the odd option from the Following
fauy gafy siesar,
AlVery Short Period [3ffd HeqH ] ClLong Period (e
Blshort Period (21 @es) DlModern Perlod [anyfias e
Q.27 i O | 972 152
Name of the Queen of 16th Louis is ..........
16 o1 Q=1 A0iie =g GIGH
AlAntoinette [Tz Cliulius [y férar)
Blvictoria (figaeifem PlNone of the above e Daf) =gl
Q28 57 5D
.. Pigou was bornin ...... ear
& oy g s Erfﬂ‘a}rar,
AT [1778) —

C)1877 [1877)

hitps #simun-sdmin .EP-'lcl'Hi:hI.anllll.lﬂ-BMnnu'ﬂ,lpuﬂu.ﬁlﬂuD:lﬂnﬁ ULTIFS
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B11898 [1898]

hittprs s PETIAr-ifrmiin ks noet) nEtfteAdminiia pantsiAlZuestions aspy

D11901 [1901)

T e i i ——
Who said ' Poor peasants, Poor Kingdom, Poor King 7

“TIa Aqad), e ey, T T w) rged

AlTurgot [7f) Clor. Quesney (3187

BlColbert [@lerad) DlMarshall [HIgie)
According to Recardo |, Market Value of labour is ;
feprstem 7 yomy

AlSubsistance Value [Mafg Hel]

C
B]Wages according o supply and IBoth A and B [a:é] gl
demand [AToft

D 3
AU 3e) INone of the Above [afer 9} =]

Q.31
Author of the book , National System of Political Economy
"National System of Palitical Economy" 41 7T S

11111111

AlLord Keynes [&ff§ =) ClMarshail frref
BlFriedrich List [(Fsf@ fie] Dlrigou [fig)
Q.32
Physiocrats considered ....... . o be productive.
' AT ITgd AT,

Alagriculture [2iel) Clmanufacturing [@reargr

BlTrade [&1uR] DIA of the above [adter wd]
Q.33
According to Malthus , Population grows by ........ Progression.

HIeyq gisgT 7/l i :

AlMathematical [T1for) ClBoth A and B [E17€) A 9 B]

BlGeometrical [y DINone of the Above [adfle T el
Q.34 -

Which of the Following is not the benefit of 'Division of Labour'?
wreflertest Biorar smfaymofiar wrae ety

Alincrease in production [T d1g] ClTime Savings EEEIEER)!

BlLabour Savings (##Te &) BlProduction cost increase [Samme &+ EICGU
Q.35 | WA vl
Identify the odd option from the Foliowing
Greileioen] fawa vofy sirer,

AlDr. Quesnay [T, 34 ClMirabu [Py

Bl Turgot [gif] Dlkeynes [@=)

Q.36 | \JZ | 02 | A
According to Malthus , the Population increases ......... avery 25 years.

hitps fﬂ'ﬂﬂmun-admh.eplrihsha.nﬂvrnstltulahl:ﬁmlruﬁeponsf.i.ll'l.'.luu.llm: aspx
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AATAN

SRS T AR 26 ANE elin e e i
AlTwo times [0 CIEour times 112 14
Bl1hiee times [0 DI e e [HEeL 4

"lgl";:;Fhat discussion of waltwe aconomios was dona by . Faonamist
o SRR v A A e
AJFriadric List D8Ry 1§ Cliarshitt [H1sdel)
Blpigou (R Digehumpator (419:2)
Q.38 4
Physiocracy was emergad I ......... country
R Relaw g gl
AlEngland [$s ClEyanca (Wil
Blamerica |3 @) Dlindin (3R]
Q.39 | -

Which of the Following factors contributed to the rise of 'Mercantilism ' ?
SITIRGTE JEAmel Wrielerd) B weas srullig §id 2
AlThe end of feudalism [T

3 Clbiscovery of sea routs [FrHE wTfar i)
BlReformation Movement ["-’MI;]_,HTEUH DlAll of the above (adle et I{ff]
EEER)
Q.40 Sy | Qo 332
Karl Marx was inﬂuenged by the ideas of .......
HTE HI T e et wqTE g,
Alkeynes [FT) ClHaackel [#ite)

Blamartya Sen (3w 37) Dly.B. Clerk [&.4) e
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Time; One Hour ? Var. Usrrs:
Instructian : Altempt 40 quostions, T 'G’tr i !’l’("’ 22
L 7 t /
1 Mercantilism is rebellion against____ Ihaughts '
=TT wraahr (ospefae wu aeiain o g
{A)Ancient (B} Madimal (CZMAedarn (Dl of s strrin
W i b iRy wk
2 The French Finance Minister Colberl , was a proponent_____ OF Princige 'S
KT 3Py ek o e S
(A)Physcrals (B)Mareantilia (C)adialist (O agradst {x .
Ry DATTeATET ARTHATAT Mgt ity ’
3 Adam Smith wrote the book ___ {
Wﬁ?ﬂ"fr___t{ﬁr—g whr Fafgar. ti-_
{A)Wealth OF Nation {B)Principles of Econamics (CWeltara Economics (Do of e sboe ° -..' :
T A anbarerrr grmer AT e xirerde o N
4 Rlcardo wrote the book__
FEarar____ mrabw Rafear
{A)Das capital {(B)Wealih Of Natlon (C)Economics of wellare (D}On the Princpies of Poftical
= Ffre TN HTET FFATT AETer Economy and Taxation
wrfor &
5 According o Malthus the rale of growth of Foadgrouns than the rate of growth of poputation
HTEOE=aT o AR AT R 377147 AT - ST 49T st
(A)High (B)Less (C)Both a and b (D)None of the above
ST A : T ATB i A AT
B Is the father of classical Socialism i
T T AT A HRT
(A)Charles Fourier (B)Robert Owen {C)Simen (D)Karl Marx
7 Friedrich Listwas ______ Economist
gisfE e anfaw T,
(A)British (B)Russian (C)German (D)American
freTar ey T wifET
28 iz known as the founder of the neo classical period.
ST e T RIS T 9t s
a:}":-ﬁ‘;mmm Marshall (B)Adam smith (C)Friedrich list (D}Keynse
Q___:ﬂ A.C Pigou was bom in ___ year
b oo et e,
TRLS (B) 1288 (Cy1977 (D)1901

1As AL EALY
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N 2 -
24 W e s _hads ua::::::m g AT T e T ok
st otk et et = i ' Europasn Nahons .
() F eacsaibsrs :p, _ T ARIPT THTE P .
et pregmiipre \_waﬁrw (Capitalism (D}Sociaii
14 Erhafsasnessy Has g Ciaaadl) T
[ crrmte 0 Grasiry
ki i d i
[ j B refrmerd i
teret v mﬂﬂf (GFranice (Djindia
1% 1\ tha lather of Er.or.rrr;ic. s i
e : )
L RAeATS T
() Rkt
] ' o mj::ﬂm f’:i‘:’I igou (D)Adam Emith
i oy feg
o el Gl __,_.’Ph'-l'a#'#
U*.;:f:m {B};rpmf (C)3upply (D)Price
A5 parsnding 0 Malttes , e popnation inereases - e
. _____every 25 years
P L e 1] m____.ﬁ
e i (8) Thews tienes (C)Four times (D)Five times
Lo o4 P e . 1 T
16 Vel WAy wirs o (L
wvzIy Ak e e e
() Jagan (65) Garmany (C)amorica (D)France
ke wirar wrfar il
17 Friadrich Lt was pmpawﬂOF J— 7] e
e Pz o 0" renerser A AT
(p)Cpen (B) Caghalis! (C)Protaction (D)Socialist
N et whenrr AT
18 wino the suthor A Grincighes of Economics’ 7
e Ll bl T W Wrirmmrmm‘
() Pigod (B)Gmith (C)Marshll (D)Malthus
frag frapt Hrer Cinkl
, 19 Aeinding 10 s Wellare 15 8 parl of 18 mennurad by money Soclal Wolloro that measured By maney-
S el Ll L mmwrrmmﬁrmmmmﬂ-
T,[Mmrﬂm () furdrarn fenlth (C)PIgoy {D:'M“"h“'
SCLO L e (d Froy i
/.20 The — Facton ks ghen m,pm;r:; in the Ir;:y of Gconomio Orowih OF aehumpotar , AT
L AT WY r e ey o
’ :-' w:ll::::w () B {G}Fmﬂnlmunl {D'ﬂ“"“’“ﬂ"
S L L a9 i
21 In miidia Boe® Utsen mraas wears domingtetd WY e
i e TITEr mrrrm_— Hﬁﬂﬂﬂﬂ [D:IPI.IIJ'“ﬂ
" ihysanisuns 8 muniApslles (1) Garanjsmial (c)Bardnf e
C e qapen et epiArar o
' s g Ilﬂﬂlllrllﬂll'.’u'.ll‘.‘il'Il!ll!!H
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3 Aomrroic T EEs S & ooEsuty BEs s o vaioe
SR e . S i === s=o

o =2 (cr
<= =2 =2

2L Wi o e Dlostc soradtr s et

TE= e T =T, ;—m'_

2 === (E)Scichre (C=mond

E;—m:tn;nuﬂm :::n.:a:m;mn, CIOrEEsT .

(ARl e—ared (B} Georetical (C)Eom Aand
=== e . THATE

25 ¥z Mooy wes riuence by Bis deas of

(A Heres (B)Arartya cen (CiHascksl

T Aoooedirg o Fredeish Lt smwmpﬂ'm.mpﬁm

TFEE= T T He Erner s s FE B )e ) by
(A Vi Enci=i=rm (EjM==i==m (CN=tonafisn
T S T

2% teoordinng 1o Marshell te facr b efecive i determining the price in short tem .

=T T 52, Ba A R Riveal #75a & 924 SAT HEAT.

{AjDerand (B)Suzply (CiRats of nigrest
29 Arrorcing to Fioou |, Economic Viefare
(A} Soc= WWellzre (E)Gereral Wellare (Clpersonal Welare
e =T o BT e s
30 Aecording o Schumpeter innarvation is the work of
FETOr ET TR TET Ay
- ~th)Labour (B} lnnowator (C)Capitatist
e TEATAE LlEE i

(m) 1
=0

{D)Sugar

(DiNone of the above

TO=Tw iy

{DM.B. Clark
FAL. T

(DY ondiiem

(D)saving

{D)Al of the above

AT T AT .

(D)invesiors



34 March group | with group and answer from the codes given below

- = Group — | Graup =l
3 -2t Adam Smith Division of Labour
_g Friedrich List Role of time in Price Detar mination
Marshall Economic Welfare
Pigou Economic Nationalism
bica i
o fere sy R
i forer B T 35T
BTSTe A Hegrr
fp anfils Tga
{A)Codes €& By anm [cymnnwv oy
ABCD
Wil
32 Match Group | with |l and select the carect answer from the code given below.
T2 T T || Frdter ST g T90=T TRLE S Hanh R
Group - 1 Group - Il
Marcantiafist Thinker Dr. Quesnay
Physcrats Thinker Marshail
Classical Thinker William petty
Neo classical Thinker Adam Smith

=izl
SHTTATET =TT e
FremariaT =t srster
GRIGEEICREECE Rt o L Criy
AEAEaTar e o T oy
(A)Codes Haai® (BYV 11 11 ‘ (CH 1V It VAl
ABCD
L v
33 Identify odd option from the following
" A T ST
(A)Adam Smith (B)Devid Ricardo {C)Thomas Malthus (D)Schumpeter
ar_=w fenr s FaEr UTHH JTeue qeier
24 |dentify odd option from the following
,-E;E?:{A}The Natural Order (B)The Net Praduct (CfThe Circulation of Wealth  (D)Economic Natianalis
2 ”‘. S IR Leal) Fres e Hew i gEeT wfds e
'35 In the middle ages was Inflenclal in various European Nations
gt RIS ART g i e, TUTRT T BT
& (A Protestant (B)Catholism (C)Both Aand B (D)None of the above
F*% = :"- ) Cott =g Lo i SErATB ST e
3“}“33 Francewasruled by dynasty during Mercantialism pariad .
-‘$ 3 FETET HICH FT=at SUva qoq 8. A ) B )
- {B)Chola (CjLouis (DiLodi
ST qE AT
e A
B S SEF 9911C52A6916B06BDBIST4EBTFB2B554




37 Which of the foiflowing is not the benifit of Division of Labayr?
TR TS ﬁmﬁanﬁwwwﬁ?
(A)Increase in production (B)Labour savings (C)Time Savings

(A)01 ()02 (C)03

L o2 %3
32 Which of the foilowing is Jare the side effects of growing population 7
WWWWW& 18)1D)

(A)Paverty (B)Hunger (C)Unemployment
40 proposed the theory of sumplus valye

RS o T a—
(A)Dr, Cuesnay (BjMirabeau (CHar Marx

o e e

{D¥Production cost innmape
T & AT

(D)o4

il

(D)l of the above

(D)Malthus
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ECONCMICS

o X

D il e i L ., T
e e i, gl A TRTTET S

QMMond=y, 20-11.2017) Time-1800a= (o200 coere

LSooprE Mg Wooriis - £3

ST 3

- -

NE — @ Anese—t Al cocsters.
- 3
g S .
= =i OU=SAndTs CEITE OSausE Cdy i
E == 4= =E=
. : .
= =T G = o e
2 = . - = 2 = _
i WEn EMerranten ?Sime e e S i £ 7 ig
ST .-.—T-u:_.= Ty e TL T Tams — S =g :
L
e ==
===

Explem the Eeoonarrse Nationzbem of Predeies

—_— Em—— — e —_— =
DI i wimi s YETEle Tt Wk

2 Describe the Adam Smith™s concept of divisicen of lebonr. Criticelly exm——e

i

=S a0 == =8 =il

-5:.‘5-.-_—-:'-‘-=| T B - e e L i e T2

c}}.
(=)
Explzin the main economic idess of Yeshwantras Chavan.
3 State the Mahatma Gandhi's concept of Gram Swarzj and Trosteeship 10

TR MHEEA OeEaed 3w =3 9 S:ee =

PT.O.
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? Explain the Concent of the Naturaj Order 5

any twg of the

(i) Quofsnay*ﬂ Econ Omic Tah)e

{ec) SWEdeahi

B- EEGHEEI?

ﬁ:-l!nwfng :

cept of Pmrerty
of Emnumic Welfare.

ﬁ;‘]ﬁ] -
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Timea: One Hour - -""1.1 Mar Wi
Instruction: . P"rT — '@f@rz} o
Attempt All Questions, _— 7"- 1;!1

1 Which of the following characteristic of capitalist acanomy?
TR SnierTeT et dor 7

(A)Profit s the main object (B)Service is preferred instead (C)Wealth Decentralization (Do comoettin o &
A g TR of profit HTH P T o

TH U AT T

2 Which of the following economy have public ownership on the resources of production. JTT= 37 gy vimrres

(A)capitalist economy (B)socialist economy (C)Open Econormy {Djdosed economy
TSN anisgaayT HETAATET e AT AT AT e

3 Which economy have jaint ownership on the sources of production .

(A)capitalist economy (B)socialist economy (C)mixed economy {B}0pen Econamy
W= snferTeyT ATTHAIET snferTer Frr snfega=yr wET STy

4 There is no interference of government in the economy is called as
VST 31 AT FEarT AT st AT ST
{A)capitalis! ecanomy (B}sacialist economy

(C)mixed economy {D¥Open Economy
5 Which country have largest population in the world?
{A)India {B)China (Clindonesia (D)8 razil
6 India's total population as per 2011 census j§-———
2011 =T ST MR A conenen BT
(A)136 CR (B)149 CR (C142 CR (D)121 CR
136 FEr 149 Fér 142 FiEr 12154

7 What s the density of Indian Population , as per 2011 census .
2011 =T FTIOTETT Wﬁm%mﬁwm

(A)}325 (B)328 (C)asz {D)38a
325 328 ag2 329
‘B Which state of Inlio, who have the largest sex ratio in India .
)  (AYMaharashtra (B)Kerala (C)Karnataka (D)8ihar
9 Suresh Tendulkar committee on Poverty study was appointed in the year— ——
pind - AA)2004 {B)2005 {C)2006 {D)2007
b - 2004 2005 2006 2007
10 Who introduced the minimum

calorigs conzumplion concapt abou poverty,

AR 1 FSNF ™ & ordh & e = oo



—— o g e v v oy on n st R
/o ks atvar wnfor or st Hoper
CP 711 When unemployment generated daito technelogical progress is called a5--——-—-—
SO i o e S T ... TR S
e {A}frictional unemplayment (B}eyclical unemployment {Cltechnalogical
TR R T A unemplaymenit

12 Commission for agricullural cost and prices (CACP)established in lhe year—--——
FAr & FRANT WO AA...... 3T 4 e

(A)1980 (B)1962 {C)1965
1980 1962 1965

13 Which of the fallowing factor is not related to human development concept .

{A)lang and healthy lifa (B)Education (C)Liberty and equity
Frvir st Fareror eqre=r s AeEr

14 Who introduced Human Development Index concept firstly.

{A)Amartya Sen (B)Abhijit Sen {C}adam Smith

15 Indian economy is .........

(A)Capitalist economy (B}Sccialist ecanamy (C)Closed economy

16 Indian Planning Commission established on,...

(A)March 1950 (B)April 1950 (C)March 1951

Lt B BT A IR

- s

(D)under unemployment
FT I THRT

(Dy1972
14972

(D)Standard of living
AR Trdeir

{D)Robins
R

(DMixed economy
sy arbsgom

(OMarch 1949
H 1950 ufisr 1950 aT 1951 A 1949
17 Which are the main objectives objectives of 12th Five Year Plan
12 = TR ara e g le w7
(A)==r Py (B)sustainable development  (C)more inclusive and growth  (D)all of the above
faster development s fawe GEECIEEC T T
18 Who is the chairman of national institution for transforming India (NITI Commission)
Pt (NITI T anager ST aprarT 7
{A)President (B)Frime Minister (C)Governor (D}Chiet minister
.- 19 Which of the following faclor is not related lo infrastruclure.
[(A)transport (B)enargy {Cleducation (D)production
.20 Which is the low cost transport in Indla.
(A)AIr Transport {B)railway transport {Cwater transport {D)Road Transport
maTE ATEYE = AT SIFF TR T AR S

21 Which of the following sources of eneargy s tradilional ?
e oS e brri e



(OfCoal

(AlAtomic enargy (B) Elactncity {CH3ns
HFAT qrm i (il

22 In which year power Commission established in India.

TR ST ST SuTy=T Anit @ ?

(A)1962 (B) 19464 (Cato (31965
1962 14968 1970 1965

23 In which year new economic policy was declared in India.

{A) 1981 {B}19590 (Cy1gg91 {D)2001
1981 1990 1691 2001

24 Liberalization means.......

(A)Free trade {B)Reastrictions on trade {C)Restrictions of private {DiNone of the above
HAT AT =TIETAT A sector T AT

wT=T BT

25 Which al the {ollawing parameler related o Globalisation .

(A)}Free flow of goods and {B)Free flow of capital (CiFree flow of Technology  (DJANl of the above
sanvices W EaATaT gF T ¥ATE ATITHTET T AT T
TE] T ST A a1

26 F.D.l means........

FDI| ==

(A} Fareign direct investment  (B)Foreign domeslic (CIForeign democracy {D)None of the abave

weaar P e investrment investment .

27 Which is the folfowing objeclives is not related to planning in India.

(B)To create full employment  (C)Balanced development (DMaximum profit

{A}Maximum production

e FEET qur T FEfer oo Fewr SR T
28 In which year in NITI commission is established. 1
FrT strd v == Fimrear 97 gt
()1 Jan 2015 (B)1 Jan 2016 (€M Jan 2017 (D)1 Jan 2018
1 ST 2015 1 ST 2016 1 AT 2017 1 STFETIT 2018
29 Find out the odd option .
{A}solar energy (B)wind energy (C)coal energy (Dpwater energy
© .30 'v:ﬂfhim f’[ the following factor is not responsible for the farmers suicides in India _ HTATAIH FAT 928 HARTT
J Eﬂ};v agricultural productivity (B) Confinuous drought (CLess imgation facilites {D)Agricultural subsidies
FETEHAT T i
31 Indian economy s ...._... o - e o R
HITATAT ST e
(A)Agri oriented {B)Indusiry erienled {C)Technology oriented (D)Knowladge oriented
Fhonmr FETTEET A ST srfarer TR

; BIIC52A69 1 6BOSBDBY8TIER TFFDASTY

=



22 Which is the period of 42ih Five Year Plan in India.

\TOATATA AT T G AT AT

[A)201 D-2015 (B}2017- 2022 (C)2012-2017 (D)2002-2007
2010-2015 2017-2022 2012-2017 2002-2007

43 Which s the benefit of industrialization.

(A)increase national income  (Bjincrease emplaymenl {C)regional balanced (D}BT of the above
TS IETE A Fr e A development T

a4 Which of the follawing state related to highest number of farmers suicides in India, SIS HUr T TrER=aT =T

ST FATTSE HRA 7
(A)Madhya Pradesh {B)Bihar (C)Telangana state {D)Maharashlra
35 Problems of Indian railway tr'anspﬂn are.......
(A)lack Gf madern technolegy {B}Fue! pmblem (Cwithaut ticket passengers (D)all of the above
Ferrfiree waTer CHERLY

I AT AT T AT
36 In 2014-15 whal was share of service sector in India's GDP.
7 2014-15 TEIT =T EIAATT ITA 9 ErTET AT oo, AT

(4)50.4 % (B)52.52% (C)53.04% (D}M42.7%
50.4 % 52.52% 53.04% 42.7%
47 Which of the fallowing is glemant of infrastructure.
ST HTE R T g dAm 7
(A)Agriculture (B)Industry {C)Transport and energy {(D)Mone of the above

38 In which form does foreign capital is abtained to India.

(A)Multinational corporation (B)Direct foreign investiment

(C)Cellaboration of Indian and (D)All of the above
foreign governmant o E
WICT HORT A AT AT
i B
39 Which of the lollawing is not 8 characteristics of Indian economy.
TR AT g anfereErET AT AR
[A)Low per capita income (B)Increasing population (C)Poverty and unemployment (D)Low dependency on
FHT FTEE T AT AT eTheT & I agriculture sector
Frr A s e ST

40 Which ef the following causes is relaled (o agri. prices fluctuation .
AT FTTT Frr SETAT=AT B =TT e 3E.

;:_{MGIimata changes {B)Changes in demand-supply (C)Government policy (DAl of the above

4
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B—307—2017
FACULTY OI' SOCIAL SCIENCES
A, (Third Year) (Fifth Semester) EXAMINATION
OCTOBEI/NOVEMBER, 2017
BCONOMICS (Optional)
Paper XI

(Industrinl Eeconomics)

«11-2017) Time : 10.00 a.m. to 12.00 noon

"y e

m'ﬁr:'-a'.i Hours

C— ) Attempt All questions.

(i) Al questions carry equal marks.
(i) | E wrEE
(i) EE YT wEE W e
State the characteristics of Joint Stock Company.
o Y e A @
or
(Feram)
State advantage and disadvantage of industrial combination.
shesiifits TAMT WES I W Wi, '
State the problems of Cotton Textile Industry in India.
Or
(epem)
Explain the problems of Small Seale Industries in India.
TG Ty Sednen gl TR 6.

koFERFDEIOGEEIGA4TTICOI SBAAAIRDD

Marimum Marks—40

10
H.q. ) .-___-n-
P.T.O.



WT ( 2 )
3. Discuss the factors influencing industrial location,
SAEAH FenfFaaiomen ofom s emi o w1,
Or
(feRam)

What is industrial sickness ? State the remedxai measures.

CERILE e R e e R e —— . Eqm Fim.
4. Write short notes on (any two) ;

{t) Individual proprietorship

(£z) Sugar industries - -

(zr)  Privatization

(tv)  Engineering goods industries.

gdresae four feam (RIS Eﬁ"!?ﬂ} :

(£)  UHeAH] WEed Ugdl

()  WER =AM

(i)  Erere

()  Af=IfeRl g%y Sgm.
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Time: Ono Hour

] Max. Marks: 49
Instruction - Altempl 40 quoslions, ,IX—\ (%&‘ T

1 Kaulilya's Arthashasiia wriltan by
wbET e AT Ty qit fafrar

(A}Rabins {B)Ricardo {C)Marshall {D}Kautina
R Farst qrsier Tl
2 Dadabhai hacrofi had adopled the mathad of calculating the national income,
(A} Direct (B} Indirac {C)Both a and b (DjNone of the abave
L) Y R o s T At o
3 The book 'shetkaryancha Asud' is written by . A'i
T g gy iy — AT Fotfirm, &
(A}Kautilya (B}Marsha (C)Adam Smith {D)Mahatma Phule
T AT A Frany AT :
4 Which dam was bujy by Shahu Maharaj near dajipur an the river Bhogawati in 19077
%5 I Ty wwmmwﬁmwwmﬁr 2,
{A)Khadakwasla Dam {B}Mulshi Dam :‘C]Eadhanagan‘ Dam (O Tulshi Dam \*! £
SEFATHHT weur T oy T T e S0
5 DrBabasaheb Ambediar Express needs tg take care of the following during Industrial and BCONAMIC development
= ATy HTTET i 1 ol mmwﬁmwﬁm#rmwﬁr
(A)Wealth Centralisation (B}Monopoly (CHnequality (DAl of the sbove

& According o the Yashwantrao Chavan ihe undeveloped nations should focus on which of the following.
TS0 =R =gy 5 A T e e T T T e i

(A)On increasing the (B)On the erection af large (C)On increasing Exports (D}0n the erection of the
praductivity of agriculture industry Fatser WHTT AT e service sectar
S d 3 T T v f
A faograr

7 How many times Shankarrao Chavan served as chief minister of Maharashtra?
SIHCTT T FT M s T BT mr iy
(A1 (B)o2 (C)o3 {Djo4
7 ay &3
28 Increase the foad preduction also indicates slarvation because

ST IS Ay wd Fastre i

L

3

“ - «{A)The burden of the (B)Economic inequality (CMnemployment (D)Extreme poverty
~ population i feprar Sty sireor et
9 The focus of mohammed Yunus microfinance was on the
(A)Capitalist (B} invesiars {C)Poor and needy peaple {EJEI.F)Q-I'IEI'
it v TN T T A Frierere
10 Kautilya have firs preference lo sector,

B9 IC52A691 6B0GBDBYST4ERTFEFI32A



[A) Agriculiure (3} Traneter 3
(5 ) Snrvicn ;
(D jinduatry

T AT AT
t & . measured india's national incoones dudog e Britiah e, =
af=iT Bkt T AT YA ST AT A,
{4 ¥ ashwantroo Chavan (B) Dadatshal naorofi (G S hankanrac Chavan (D pamartya Son
TETTIUTY ST mrET-TE SArrrdr EWTETe W srerey irr

12 Wihich of the following is not 8 cause of poeerty of farmors?
ST frrssre erFg T e aEery

(A End of colonist (B) Land division and (CIExplaitation of farmors (D pAdrrmnistratree Roforms
sregriiadar ST fragmentation Srera=Tr T FETTTET ST
e e o i
13 Shahu Maharaj made special efforts for full amployment and amplaymant
= _ : 1__::{.?.,1 n:;nc:mpl\uta employment {B) Ecanomical amployment [C)Perfect employrment (DjContract employment
S - THIT AP A g T HATET T
1: ‘f‘f ing to Or Babasaheb Ambedkar is the largest Mational interest industry @ India.
.{Aj,qj;:rimuum (B8]} Ceatton Industry (C)Sugar Industry (Dpanimal husbandry

T[T

’1& of the following Emphasized agricullure and farmer aducation.
S ‘t-'Wﬁﬁ?mWﬂ T
——  (A)Amartya Sen (B} Shankarrao Chavan (C)Or Babasaheb Ambedkar (DY ashwanlrae Chavan
s E HERTITT WE = ayqTTET WS HT AT TEE
16 Shankarrao Chavan had played an imporia

At role In constructing the following dam in Marathwada,

{A) Jayakwadi {ByVishnu Puri {C)yeidari {DiLower dudhana
only A only A and B A B CED oanly C and O
FES Foges aranrfor e FESE Fro e e

17 Who is the author af book sconamic inequality
e =T T ST Ty AT TR
{(A)Dr . Babasaheb Ambedkar (8)Dadabhai naorojl (ClAmartya Sen (D)Mahatma Gandhi
sy ST arged A sEaT AT

=f . aTETATES STEEERT
18 Mohammed Yunus won the Nobel Frize for his wark in which field.

e rocredit and Gramesn (DSmall ndusines

- i {B)Agricullure research {C)Mic
i MJ;:’:: T AT Bank srqEETT
FpaeT ferer sarfor ayrefrer S

Tax Do not applicable it rural taxos.

P | - B —
— I R g R AT
D duty
(A)Land revanue {B) Raligious 1ax {C)Tax lmpa-a:i (D¥Custom
20 According to Dadabhal Naorajl the india‘'s per caplia mmmu WD T
arersmd A TTAT=AT JH srreTa R AT wepar @ P
(A)as (8310 (G20 >
= ra .

— .-..ugnnnﬂﬁ‘!AEﬂ'?FﬁFajzA



21 Mahatma Phula was o in Maharoasito,

HEET A R pir,
(A)Politician (B} Lowyor (C)Groal Social rafarminr
a— WA NTE AR (ure

22 In which year the law was passed by Shahu Mahara] not to divide the larmiand.
I SNt it e i Ty Sy AR Aty pdf s AT

(A)1913 iB)1912 {CHa14
ni pt iy

23 Which mothods of currency croation was oppased by Dr. Bobpsahab Ambodkar?
T R ST Sier oF vy st B i

(A)Gold currency quantification {B)Irevocable Papar currency (C)Sllver colns
methods WRFTE=y SO 9T TERIT TR
I = TR T

24 The first land holding bill in Maharashira what introduced In

uT &t sefl write sratar arauit g qdar g ke i

HE TSR

(A)1858 (B} 1959 {C)1960
s ALY, 1880

23 Which of the following statemeants is true,

(A)During the period of (B}During the period of (C)Bolhaand b
Shankarrao Chavan, tha Shankarrao Chavan, the aregr o wftr o
area under irigation in area under fmigation in
Marathwada increased, Marathwada decreased.

ST AR g ST ST gy

26 The inefficiency of the nation Rises _____ questions.
TPETRT WE A A we Fsifor &4

(A)Poverty (B)Draughl (C)Unemployment
e T T

27 the book was writlen by Mohammed yunus.

(A}Arthshastriy Vichar (E)Banker to the poor {C)Choice of techniquas
amTeETT frame W TT T TIE A TR

2B According to kautilya budgel should be

‘{A)Deficit {B) Surplus (C)Balanced
" '29 Dadabhal Naoraji studied the Inequality in incoma,
e < {A)Inter Pravincial (B)Natlanal (C)international
" 130 Which of the following tax is levied on agricultura?
: “(A)Wealth Tax {B}Land revenue (C)Dlract lax
L ArRrar AT WA T

9911C52A6916B06BDBIST4EBTFEF332A

{CYEntrepranaur
TR

(DHa16
AT

(D)Mone of the abova

(D}1981

LAY

{D)None of the abave

(D)Starvation

T

{D)Arthanitisrd=fiaT

(DA of the above
T AT

(D)4l of the above
i qd

(DAl of tha abave
it aF

)



31 Rajarshi Shahu Maharaj was born an at Kagal,

{A) 18 July 1884 (B)26 June 1874 {C)16 July 1874 (D)26 June 1876
9% T 0¥ 26 [T 158 ¢ 7% oA gRiae % AT ICE

32 Dr . Babasaheb Ambedkar presented the support for ,
= . TETATES WASFOAT T [7RT e

(&) Cooperative farming (B)Cammunity farming {C)Group farming (D)Modern farming

33 he is known as the Sculptor of modern Maharashtra.

(A)Shankarrao Chavan (B)Sharad Pawar (C)Yashwantrao Chavan {D)All of the above

4 introduced Zero based budget in 1986 in India,

AT AT §°,GEATAT JEaTTFa andA ST JiSHT,

{A)Shankarrao Chavan (B} Sharad Pawar {C)Ashokrao chavan " (D)Prithviraj Chavan

35 Economic inequality takes into account the difference in thw distribution of ___ income.

(A)Nalional (B)Personal {C)Disposable (D)Per Capita

36 Mohammed Yunus is an ecanomist of country.

HTEv g B OT AW AT S AR

(A)Pakistan {B)Bangladesh {C)india (D)Sri Lanka

37 According to Dadabhai Naoroji is-the reason for poverty in India,

(A)The plunder of India by the (B)Dryland agriculture (C)Palitical Interference (D)l of the above
British FraTey AT AT FETEFAT U AT
ST HICHTAT hed el 7

18 Which of the following pair is false?

(A)Mahatma FPhule - (B)Dr Babasaheb Ambedkar - (C)Yashwantrao Chavan - (D)Shankarrao Chavan - Das
Shetkaryancha Asud The problem of the Rupes. Sahyadriche ware capital
TP G - AT A S AT A - T FURET TR - FRTET A W = - A SR

&

EEE]

3@ According Yashwantrao Chavan the country can nol develop without

"+ (A)Economic System {B)Planning (C)Political System (D)Social System
" <" 40 Who wrote the dissertation the problem of the rupee?
et i v e g Ferfie?
© . (A)Amartya Sen (B)Dadabhal nacroji (C)Dr Babasaheb Ambedkar  (DjNona of the above
s T graraTE AT St qEATETET AR R

9911C52A6916B06BDBISTAEBTF6FI32A
-
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This question paper contains 2 printed pages]
A—233—2017
FACULTY OF SOCIAL SCIENCES
B.A. (Third Year) (Sixth Semester) EXAMINATION

MARCH/APRIL, 2017
(New Course)
ECONOMICS

Paper XII (Compulsory)

{Public Finance)

(Friday, 7-4-2017) Time : 10,00 a.m. to 12.00 noon
Maximum Marks—40

Time—2 Hours

N.B. .— (i) Attempt All questions.
(iiy All questions carry equal marks.
() | Wy HrE
(¢ wd WS WA T .

1. Explain the nature and scope of Public Finance. 10
T e WEY S s S A
Or
(ferem)
Explain the merits and demerits of direct tax.
yee R AN We T
10

9 What is deficit Finance ? State objectives of deficit finance.
e sl e ? qétem sufweoar g W
Or
(Fenam)
Explain the meaning and objectives of Fiscal Policy.

ey dremar @Y enfn SRR TR F
P.T.O.



WT ( 2 ) A—233—2017
3. State the role of Government in economic development. 10
aufda fasnarfia sewrR yfwwr am
f)r

(Fexem)
Sxplain the meaning and procedure of budget.
Write short notes on any fwo : 10
(i) Importance of Public Finance
(z1)  Principles of Tax

(tiiy  Effects of Public Debt

(iv)  Importance of Finance Commission.
dregad fem fem (FoemE §4)

(i) G srEeae W

(i) T T

(iii) EEIE w9

(iv) Tom s WEw.
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1 Adam smith has propounded the principle of m
¥ v ey o TS e S,

Tmme: Ore Hour

Instruchon ; Allempt 40 questions.

{(A}Expenditure (B} Taxation {Clncome
2 Hugh Dalton was propounded the prncipleof
TSR EE eI v EEE
(A}Maximum Social Advantage (B)Minimum Social Advantage (C)Maximum Social Welfare
SR TS AT Frr smrfis ane HETH AT Searr
3 Seope of public finance in conventional periodis
T Fod ATa T HS fTar AR AT
(AYWider (B)Marrow {ClBoth A& B
=T Hgh S o A

& From the following which is not the sgurce of Revenue of the goverament?
(A}Individual deposils in the {B)Taxes

bank Fr
S Public finance is the study of govemmani activities which includes
(A)Saving and Investment {B)Sale and Purchase {Clincome and Expendifure
& From the following which are the Sources of tax for government?

{C)Price of public goods

{A)Customn duty (B}Direct taxes {C)indiract taxes
FATT-RATT FT N & VTR FT

T Which of the following is not a direct tax?
ATEE T A T ST ?

{A)Income Tax {B)Wealth Tax (C)Exclse duty

8 Inindia ___ Taxis Direct and Frogressive
M BT & Seer s Tiemat s

(A)Wealth Tax {B)Gift Tax (C)Corporation Tax
T ST Freit A T

9 Which of the following are Non-tax revenue components of the unfon budgel of India.

{A)Custom duties (B}interes! reclepts {C)Prafits from public
raTa-faTE w5 STATET TCATAT enterpnisa
o e

10 Progressive Tax means .

O & R

e e ¢

.: "" i N
T Wax. Marks: 40
- .-#'
I

I

(D)Saving

EECIE

{D)Minimum Social Welfare
T sl fegmor

(D)None of the above
e Q& AT

(D)Feas
(D}None of the above
T S i

{D)All of the above
T S a7

(DiCorporation Tax
RIS &

{D)lncome Tax
T &7

(DB & C only
= Tairs



e

Sy

(A)lncrzase in Income {B]Decrease in Incomea (Elncreasa in
decrease n Tax rale Increase in Tax mte In Tax rale
T AR §reqT T BRI L 1 £ e— V=T =T
T8 T 8 T gt
11 From the following which i=fara (he objectives of public finance?
(A)Price stabilization {B)Equal distribution of wealth (C)Satisfaction of needs
12 Public finance deals with
s farr & FrrStasandr i
{A)Public Revenue (B)Private Revenue (CiCorporate Revenue

13 From the following which is nat aGsT

I ﬁ‘ﬁ‘ﬁﬂﬁ"ﬁ'q‘i 2t mir,
(A)CGST (B)KGST (C)SaST

HrAT. w4y &, & o, A T S A
14 G.8.Tis not applicable for which commedity from the following,

W S T TR U & ST TR

(A)Purchase of vehicle (B)Purchase of T.v, (C)Purchase of Patrol

13 Which of the following is not a componant of fiscal policy?
ST 3 AT were Freftr gy AT aTe?

(A)lssue of Currency {B)Public Expenditure (C)Public debt

16 Which of the following iz a principles of Taxation

{A)}Principles of equality {B)Frinciples of secrecy {C)Both A and B
AT e =T e A A sl T

17 Wagner Propounded the law of increasing_

(A}Public Revenue (B8) Public Expenditure {C}Public debt

18 Which of the following is a plan expenditure of govemment?

(A)Nalural disaster (B)Bharat Nirman and {C)Both A and B
Tefir swrer MGREGA AR A anfr

M RSTor T o i o

** 19 Increased from the following the debt raised by government is not an intemal debt.

{A)IDBI Bank (B)ICICI Bank (C)world Bank
MTE 3 4T, AT, T AT, G, 37, 6, Ay, ATl i
. 20 Which of the followlng is not the component of public debt?
(A)Market loans (B)Exlarnal lnans {C)Personal loans

Income rncr&asn[D}Nnne of the aboye

T o spr

(DJAl of the aboye

T 0 et

(D}Co-operafive Revenue
HERT Aery gy

(D)GST
G AT I 3

{DPurchase of Books

{D)Deficit financing

TENT by

{OMNone of the aboyve

(D)Public Finance
AT Faer

{D)None of the above
T Y ATR

(DIRBI
T, &Y, 37,

(DBoth A and B
A= ar sfr s

21 Which of the following are the components of current account of the cemral government Budget,

VAT V6 o arreT S e e W ?

(i T T T T —



o

(Al Dsfance Expandilure (B)Subsidios (CIEXpenditure on socnl (DDA 6f tho abiave

strsmite ud LR Brvices Ay Nafy e
Ay e iy e

=< VWhich of tha ﬁ:ﬂ-_m-hm by is collaciond Ly the slate govemmant?
TERTE ¥ T SRS T v Qi iy

(A} Custom auty (BYPorsonal Income tax {CILond Revonua (D)Exeiso duty
-t F Yafwrs g g i e T
23 The cument finance commission is
sy e amire e
Ayt (8) 14" (cpat (oy12'
W tqar 13ar 12ar

24 From the following which are the reasons for increase In public dabt In India
ST S T M qTEN Fok oy

{AlIncrease In Interest payment(B}Increase In defance {C)Both A and B (DINene of the abave
of governmant expendilune A anfr airer Yt rh
FTRATIT ATCAT FATI e wraTE fd
BT

<5 Reasons for Incresse in Public expenditure In India.

{AlUrbanisation (B)Government Subsidies (C)Development Project (DJAl of the abave
TEASTT ST SR Fremenes ey THA S &

25 Equality in a country can be brought through
LI FEAT SrevaTsTEr ST HETGHAT W

(A)Regressive expenditure (B)Progressive expendilure (C)Regressive tax (D)None of the abave
SR =< _ T e T A vy

27 The situation where Government exace expendilure during a given periodis___ I
ffere fesm mer g 2 WATTET AT apearT CUR i S - =

{A)Deficit Budget {B)Surplus Budget (C)Balanca Budget (D)Public debt

28 Whal is fiscal deficit?

Feemr g mgorsravg?

(A)Difference Between Total (B)Difference batween Average(C)Both A and B {D)None of the abave
Revenue and Total Revenue and Average =i aragfor afer T mr
Expenditure of the expenditure of lhe
government government
TFT HT O W AT S T o

29 The first committee to design GST model was headed by
GST 9= rersar=ar vERT AR T g

{A)Vijay kelkar (B)Dr. P. Chindambaram (C)Asim Das Gupta (D)None of the above
Fre S o, . e ST AT T i §dt A

- 30 When was NIT| Aayog eslablished?
(a1 sanuary 2014 (8)1% January 2015 (C)1*! January 2016 (0)1* January 2017
} AT 2aw ? AR 3apy ¥ MFRITT 3a3% ¥ AT opts

- 31 Whois the chaiman of NIT) Aayog?

NIT! s for spemres



P Swend et VR Bvaniees Wity

) LR TRTE
A Revenue dati it ot cantial govermment in Inille s
HIE AL st gyl e g

(UMW o e Minisher
Al iy

UAT Sl () 2wy (C)Negative

L BTED W LIRIISIE )

SHAVIO i e peeseii vics chaliman of NITI Aayog?
NTEESUMVIS o e wdn aniveg

(A Rafiv Ko () Sanjaey Kum

Bl g

S The diffeiance babwe [Retvin g teclopls and 13
MEHET A b g s wdle e ey

(A Bt deticit
AN e e

{CWinod Kumar
EELE T
Vs axpondliure ia

Hefba qoan

(Y Pthmary deficit
s liye e

(C)Fiscal doficit
Ferefer gper
A Paliey miated to publlc revenus and putille exponditure |a callad
v s bas e onter wdsa b s e v e NI sk e,
(AN ety Palicy (O Flacnl Pollcy {C)Tax Polley
ki uley T wyew T ufrur
36 Progroasive Taxes
EURIBIERIT Y
(A)Increases govemment
Roveme
WU VT TR AT
3T Doad wolpht dobit refors to which of the following form of public dobt?
mreer ) Syerear ardarfies st st smpre st revrrr?
{A)Productive duta (B)Unproductiva dobt {Ciintemal dobt
arar SETETTr W sterafer at

(B) Equal distrbution of Income (CIA and B of above
T T AT reiver ar wfir

38 Which of the following tax colloctad by the gavernment on sales of Goods and Services.

it g il fateny Frdves sredver Qb g e siver st

(A)CAT (B)GST (C)CET
o dr afroerdr firf &

49 Which of tho following (s a indirect Tax?
sreiler b sywene e agurry

(A)Wenlth Tax {B}Incame Tox (CIGST
vt w FETST T siradr

- 40 Gross Fiscal doficit ininus Intorost payments Is callod Gross
P Frsiar e mmyer onr Yo eger _ ape,
(MY Primary Daficit (B)Rovanue Dalicit
arepfire ape HEYE

{C)Budgpat Daficit
srdhasing

&
5

1 » 0
%
"

(O3 rimo Ministar
TG I

(MBalanced
Hplera

{D)Rajesh Kumar

(D)Revenue daficit
HEHA <

(O)Expenditura Policy
T T

(D)Nane of the above
CHERCTE oy

(D)External debt
wfvier &

(DISAT
A

(D)Gift Tax
ET T

(DJAIl of the above
gl wi
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RA-223 Public Finance XII (CBCS) (DGE i) & u;, }
Time: One Hour Maﬂl-!arks a0
Instructions ~ /-VU "l;\“
Solve ALL Questions @ TE % 3 .._T"
5 R
1 The study of Govemment revenue and expenditure is dong in——-— - T
PR S S T BRI BT e T ST A 2 e "
(A)Saciclagy (B)Go-operation (C)Public Finance (D)intemational Econamics £
AT HETR i R sereardia s 2. “u"
2 India has a — finance $ystem.
ST frty et e
{A)Component state {B)Federal {C)Central {D)None of the above
3 Public Finance is the canlter of lhe next two subject. '
T e 5 Qele ai fEuE Te e 7
{A)Economics — Political (B)Economics- Sociology (C)Histary — Econamics {D}Political Science —
Siciance T - o e - arefame Saciolagy
4 The implementation of fiscal policies In the country is mainly done by the——
s Rrelia wiRomedt arveraref e HE A TR
{A)Citizen (B)Commercial Bank {C)Central Bank (D)¥Government
e =T A g 48 TR
5 — iz nat the goal of fiscal policy.
% forfty giveny St L. .
(A)Making maximum use of  (B)Proper distribution of {C)Greating regional batance. (D)Increaging inequality
financlal resources. financial resources. i T o el between income and wealth
foehg sammem ean oadm Rt e o in the country.
. R, dereier SN ¥ WSS
" oo ATy,
6 —— objective of Fiscal policy is to increase employment in the country.
Forefir RO —— I 2o S TS a0 T8
(A)Main (B} Secondary {C)Less imporiant (D)Nons of the above
e Ger] Tt g e e

T WI'm is define that, * The budgst is an estimate of lhe govemment's expendilure and revenue for the coming year.”

ST FET) SRR e & Seger géte gutE s g, & e s S 7

S [ﬁ.}me Findlashiras (B)Praf. JL.Hanson (C)C. L. King (DiNona of the above
»E’*jt 1. foe=dt i WL 3. . E . w. Eri et i)
& 5__‘3 A budget in which government revenue and government éxpenditure are squal is called—

T ST TR T § YET W A ST 3 MRS — TR,

gl : -
MBS e e e siemTS T ST

sk ELE: q SEET & 31 38w

5911C52A6916B05BDBYET4EBTFA4808F

"1A}Balanr:-e:l Budgsl (B)Deflcit Budgat {C)Equilibrium Budgst {DNena of the abave
et AT

g S(A)1 May 1o 30 April (271 June to 31 May (CH January to 31 December (D)1 April ta 31 March
- 3 o ofye & 31



10 The equilibrium budgel { upported by ———

{#.}M?m Smith {E}Lnrd_ﬁwnas (C)Amartya Sen (D)None of the above
Hoign Ay s &= e &9 -
11 Choosa the right option by matching the foflowing pairs |
e 9) T ?)
a) Wealth Tax 1) Income Tax
woE W Enp ot
b) Land Revenug 2) Qctroi
T T T
¢) Direct Tax 3) State Government Tax
egE o TERaTeal 9
d) Indirect Tax 4) Central Govemment Tax
T T &7z TR AR
(A)3) 1)4) 2) (B)4)3) 1) 2) (C)1)2)3)4) (D¥) 3) 2} 1)
}9¥)2 ¥) NN 9N NY ¥)3)2)19)
12 When was the Goods and Services Tax introduced in India ?
STeaTE 3, a1 R SER G §en ?
(A)1 November 2014 (B)1 July 2015 (CH July 2017 (D)1 June 2018
q FEax 209% 9 g 2094 q &t 2090 q G 1094
13 The amount that Is taken as punishment from a person wha does not follow the govemment rules is called ——
mwmammﬁﬁaﬁrmwmmmmﬁm—r—w,
{A)Grants (8} Donation (C)Fees {D)Fine
TR Qort e 48
14 If a product is manufaclured in one stale and sold In another state, then —is applicable .
mw@mwmﬁﬁﬁﬁﬁwmﬁﬁamm w7 B,
(A)State Goods and Services (B )Central Goods and Services(C)Integrated Goodsand  (D)None of the abave
Tax Tax Services Tax whetd T
T T, T IR i o $ o A T TR
15 Afer the adoption of goods and services tax, tha main tax route of the states is complately closed.
aﬁaﬂﬂﬁmﬁmﬁmmﬂﬂﬂﬂﬁ———ﬁwﬁmm~
(A)Income Tax (B)VAT (Value Added Tax) (C)Professional Tax (D)Land Revenue
. S AR VAT (Seaared &) FEGINE T TR TR
92.11.15 In which case of — , the impact of tax and Incidence of lax fallson @ differant parson.
2 s e ﬂmﬁmﬂaﬁmﬂﬂm#ﬁ‘mmﬂﬁmﬁ.
+¥.2* (A) Indirect Tax (B)Income Tax (C)Direct Tax (D) of the abave
: AT B T T e dn ﬂﬁﬁaﬁﬂ&
Which of the following is not an intemal routa of public debt.
AT o D Bt sjenter =l el 4
< (A)Loans taken from () Loans taken from provident (C)Loans take® fram (D)Loans taken from he
:  gommercial banks in fund international financial Central bank
country. sifaer frafs Pt S a0 institutions. qeyeell g tetel
et TN harg e i wedTgT
Sertel T frefelet S .

991 ICS!AISS‘IGEBDEPENEE?F&#E&SF




18 Public debt that are taken cut ofthe counlry are called — SR

Tl EE e & euAn e Uad am T T AT —— T,
{A)Extemal debt

(B}Intemal debt (C)Domeastic debl {D}Al of the abave
e g & oot ERGEEIE il
19 What is the reason for the increase in public expenditurg 7
(A) The rising cost of protection (B)Growing population (C)Accaptance of the concept (DM of the above
eSS S @Y et S of welfare state. Tedd wd
AT 9T O Haarsar
@R,

20 Which of the following is not objective of defi

cit financing .
(A)Getting the country eut of  (B)Natural disaster relied in the (C)To increase poverty in the  (D)Optimum use of natural
recession country, country resources.
ST S TR Ay 2elter A st e ettt STRgE A e, *reffe weemaT Saty T
21 Which of the foliowing is the function of tha Financa Commission 7
TR I S e aToR a0
{A)Determining the state's (B)Tao decide the policy (C)To decide on any other (D)l of the above
share in tax revernue. regrading grants recetved financial policy between the TadE s
SR SR T fieaevgs by the state from the center.  center and the state,
T, g Wi v ¥ T T grearla saw
SR st R Porardl R foes st
HROT aRfa),
22 According to Artical —— | the president of India appoints the Finance commizsion,
o THR e gt A e A wwan,
‘A)140 (8)260 (C)256 (D)288
9¥o ico Y5 JeL
3 Wha is the chairman of the 15th Finance Commission ?
TERET T A s S e ?
A}N. K. Singh (B)Shakiikant Das (C)Ancop Singh {D)Nirmala Sitharaman
. &, Tehide 3T e Fofar Wharms
4 was the chairman of the 14th finance commission,
————& wern B e ey i 7
&) Dr. Vijay Kelkar (B)Y. V. Reddy (C)Urjeel Palel (D)Amartya Sen
<. Faroey e . =), 3 ot v S

3 How much wight did the 141h Finance Commission to forest area when allocation Income ameong the skates 7
V8 T foreT ST U-RIE) SR AT A e et ST Rt e Be g 2

)50 (B)15 ()75 (Bpo
4o Yy .4 "
The 15th Finance Commissian was established on———
&1 VY = o smairTr wenE Wl 7
115 may 2016 (B)15 may 2020 (C)3 December 2017 {HHRE Mowerber 204w
94 ¥ 204g 4% 030 3 fE¥Y 2090 “m?"?u B

The lotal reveriue received by tha gavemmaent in a financial year is called —
e e xefer sreaeent forasomy qagon e meort ——— g,

0911C52A6916B06BDB9874EBTFA4808F



e

(A)Public Rovanun (B)Public Revenus

(CIPublic ek

(O}icne of the 3oove.
il <y WA v At vt g
20 Whieh of thn followlng statomants applios to public expenditure 7
AN whory w1kt arulan sy wd 2
(A)Tha trand of public (B)Social justica Is established (C)An Individual's benefs i (DiPutlic expenditure indude
oxpanditurg Iy duclining, hrough public axpa nditure taken in to account in public  onby Unnecessary expense
L S ——— expenditure, T Fala e
i, T e e, #§afs wuts vy 9 T TR gt
aE o Ao e
29 The public debt takan from the Intemational monelary Fund is callpg——.___
== TRl sy BE AT AT e e,
(A)Internal debts (B)External debts (Clindigencus deby (D)None of the abayve
30 Which of thg following statements doas ot apply o public expenditre 7
CiL e co oy — A orafer O BT ) 2
(A)Expendilyrg on defense |5 (B)Public Expenditure leads W (C)The purpose of public (D)Administrative Coslsare
the basic puh_ll'c expendilure. maximum socia| wellara expenditure is to make Fart of pubiic expendiure
ﬁ:mmammm mhﬁmaﬁqﬁqmmﬁm more profit e O & wdae
W e ame AT A, AT @atar 4 =fie a0 FEET T,
.
31 There are - lypes of goods and servicas ta;
TR — R wmde,
(A) Two (B) Three (C)Five (D)Six
Ll i o wE
32 Which of the following does ng; features of Interm) debit
TTHTTNS ory ajepetey Tt &3 =
(A) ln't«eu'*ni:;1 debl is taken fram (B)Intarnal debt cab be takan (C)Due to Internal degy the (D)internai debt are takeq in
within the counlry, voluntarily or compulsorily, country’s cumency remain in f Curmency,
ﬂ?ﬂfffﬁfﬁﬁr@wmﬁmﬁ ST 2ok ey fora ety the country. a::;ﬁfhﬁ}!ﬂgﬁﬁrm
v, ST A darty LCE]
T g,
33 Covering govemment expenditure by creating a new Currency means—
T o Rt gy STt e A gy B
(A)Deficit Financing (B) Deficit Bugget (C)Public Debt (D)Nore of the aboye
T ref ooy T sermys e gk RITIBT w1
34 Who Is the first Ecanomist to knaw the Impartance of Flscal Poiicy 7.
- R bRt g AR Sftet areferer apyey 7
SF;;EAJAuam Smith (B)Devid Ricardg (C)Lord Keynes (DM. B. Say
P s ey e Ry aiid XfY
L\‘waﬁ Indian Income tay js —_.
)Progressive (C)Negative (D)Nona of the above
Wierefisr R HiatH mh
tax burden form one Persan to another is calleg—
T R Wi S e ELnicd
(B) Shifting of Tax {C)incidence of Tax (D)Burden of Tax
T Hoy

TR

TR A
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This question paper containg 2 printed pages|
RA—222—2022
FACULTY OF HUMANITIES
B.A. (Third Year) (Sixth Semester) EXAMINATION
MAY/JUNE, 2022

(New Paitern)

ECONOMICS
Paper XII
(Public Finance)
(Tuesday, 14-6-2022) ' Time : 10.00 a.m. to 12,30 p.m.
Time—2Y% Hours . el : Maximum Marks—50 .
N.B. :— () Attempt Al questions.
(i) Al quﬁbtmn-t car-fy uqual marks
(B W g i
(i), W v wEA ’j’ﬂ TR, _
1. Explain: t.he__mstruments\ qf Elsc:a.l I"[!lil:j.’. i 10
(ﬁﬁﬁ

a3 Whnt us Eudget % Stattq the ::.apg;, of: Budget
B amam TS m ? EEEES YER WO

2 !Explam the Sﬂurces nf Puhlie De};t,, 10

- Explain the merits and demerits of Indirect tax.
R FOE - W
: : T P.T.O.

20678C62A3668T222CFT19D23D100CAZ



W (2) o BAa93 9hy,
3. Explain the Central-State Financial Relation in Inr]m. e 10
WA Fg-Tm forvy Ty e .
A Or
(R
Deseribe the t¥pes of taxes in Imila
R fafay semen wd Enmr ?h'{l

4. What is Public Finance ? Exp!mn 1tq m:ture e ; ex : 10

mﬁmmthW: wﬁmm'w

:lsﬁg Pubhc Expeadﬂure
LicEiten Ha‘ ‘ﬂmﬁ’a? am'?r mm |
Wnt& ihprt ‘m:ités nr; rany *twpl
i} & @ﬁodﬁ; ﬂ.ntl, j-‘:q:em{.es\T&x\

10

43

20618C62A366872220F7 18D23D100CA2
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s
A—265—2017 ts,
VACTINT OF SOCIAL HCIENCRBnST 27

FLA. Ufhird Yesr) (Hizth Semester) BXAMINATION
MARLCHIAVEIL, 2017
(New Cotarae)
BLONOMICE
Paper ZIII
(fraernational Bormrmics;
Time : 10.00 a.m. to 1200 noon

Wirre 2% Hritrs
NI

Mazimum Marks—40

e 0fy  Astempt AU guestionz.

tit) Al guestions carry equsl marke.
ti) TE v ETE

(ji) TE v wEE T A

Ezplain the theory of camparative ost of international trade. 10
Or
‘ (Fxam
Etate the growth and structure of Indiz’s Foreign Trade since, 1991
1951 WA TR TR P e A T I Fh
Explain the advantages and dizadvantages of International Trade. 10
Or
(feram
- Btate the featuresz of Balance of Trade and Balance of Payments.
T @ T g 73 A fem w0
P.T.O.

BIFEHFICTZOTAELA |ET9RETASADGEH

e TR R e T T e

—



WT (2 ) A—263—32017
3. Deseribe the structure and functions of World Bank. 10
s dEt = oa w e w5,
Or
(e o7 ji
Explain the difference between domestic tfan:_]e %nd_ International Trade.
ST SR S S S o ww e g,
4, Write short notes on any two of the following :- e B ik 10
(7 International Monetary Fund
(@)  Asian Development Bank ) : ks P
() BRICS Bank .= - .7 RS S
(i) Structure of Balance of Payﬁ:e:;tg. A s &
ST P S Ao o o
() sy o
@) onfeé foww gm0 S

A—263—2017 9

BTF644F3CT207AE2A 1 ET98ETAGADI890



This question paper contains 2 printed pages}

A——-SGB-—WDI'T
FACULTY OF SOCIAL SCIENCES
B.A. (Third Year) (Sixth Semester) E}{M\"HNATIGN
MRGHJAPRIL, 2017
(New Course)
ECONOMICS
Paper XIV

(Rural FEconomics)
Time : 10.00 a.m. to 12.00 noon

(Wednesday, 12-4-2017)
Maximum Marks—40

Time—2 Hours

N.B. — (&) Attempt All questions.
(i) Al questions carry equal marks.
@ wE v e
Gy wd wm wEE T e,

1. Write the nature and characteristics of Rural Development

orefror feerae eI A Sfme=n femen
Or
(feem)
t in the dev

10

Explain the role of Governmen elopment of infrastructure facility

project.
g gae wEe P ETEREl S .

ach about Rural Development. 10

9 Write Mahatma Gandhi’'s appro
sreren e T fERREEE et et
Or
. (FEa)

 Write the need and importance of Rural Industrialization.

uﬁmﬁﬁ‘ﬁwﬁwanﬁﬁm.

3. Write in detail about various granis to Gram Panchayat by the Government.
10
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(Feran)

and Liny indus

Explain the im
sty sdferaedda R T G e wEE T E
10

Write short notes on any fwo of the following .

WT

portance ol collage ey in Indian Jeanumy.

() Agro based Industry
(iiy  Jalyukt Shivar
(ii) Food Processing Industry

(iv) Loan Subsidy.
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OCTOBEIR/NOVEMBIER, 2017
ECONOMICS (Optional)
Paper XIV

(Rural Eeonomics)

(Muesday, 21-11-2017) Time : 10.00 a.m. to 12.00 noon

Tvme—2 Hours Maximum Marks—40
N.B. — 0 Attempt All questions.

Gy All questions cavry equal marks.

(M T WA A

(i) W W WA A

What is rural development ? Explain the characteristics of rural
development. 10

ity e e am 7 i frewm afe we ww.
Or
(feram)
Explain the Gandhian approach of rural development.
T e M gfewn wWe w1
2. State the importance of rural industrialization. 10
Tt ShesifETTe TR W,
Or
(feran)
Explain the types of rural industries.
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3. Explain the problems of rura] development. 10

A fesEE v v a5,

Or
(e

State the role of self-help group in rural develoj _Jaf..

v fSEEe = -weem e ftymT g, @
4. Write short notes on (any twa) : 10

(¢) Village Economy

{th  Agro-based industries
(et} Jalyukat Shivar

() Clean Bharat.

UizE fem fa@ (FoRd @)
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